Bat99 077 @inary)

= 45kK log R, —160

WN7ha

-11 \ ‘ \ ‘ \ ‘ \ \ \ \ \
— logL. =6.79 |
o'<-12 —
N M, =-8.31 mag
5 .13 E,., =0.27 mag
“.‘m |
(@)
£—14 —
8-15 |
-16 | | | | | | | | | | | | | |
3.1 3.2 3.3 3.4 3.5 3.6 3.7 3.8 3.9 4.0 4.1 4.2 4.3 4.4
log A [A]
6 T T T T T T T T T T T T T T T T | T T T T T T T T T T T T T T
= - (\(‘/) (\Il -
5 |- & X & © - —
- & = o T = .
x4 |- E > . — 4 -
= B = = |
A ~ |
g2 - -
O l l | l l l l l l l | l l l l | l l l l | l I_
1200 1300 1400 1500 1600 1700 1800 1900
30 _IIII|III<IrI<IrIIllllglql_lll|III;IIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII_
[ Yo < s 8 ? Y ~ 2 :
B oo —i = ﬁ\—| - Lo < oo ~ o § ]
25 F S33w~Zsw~ - +9_.S 3 3 = e P S
B IIII(J)ZII; :|:| o W;‘ T I T R T (\c‘n o A
X F IS 2  &m22 < — 2 9]
=20 s @ @ o=~ = = 3
) f —T T T == = O £ ]
£ f 2> | ¢ Nl | Lo
315 T =
o - ]
1.0 .
0.5 :IIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII:
3800 4000 4200 4400 4600 4800 5000 5200 5400 5600 5800 6000
40 :| T T T | T T T |m| T T T 1 | T T 1 |: 50 ||||||||||||||||||||||||||||:
[~ \ <r 3 ]
3.5 | S 4 4° o o E
30 Fdomr & w =TT, & = = :
5 [SZZZ2 2 2 o Z - 135 Tmo o £ £ E
"o L oo o @ o @ @ So w® ~ ~ E
g . - T T I -y - ju ] 3.0 == = = J
% 20 Z_ ] | | ¢ _Z 25 TIT T =T -
© - ] 20 Lo E
15 F El E
o 1 1.5 =
10 s 4 v 4 v = 10 1” . UVW U z
05 - l l l | l l l l | l l l l | l l l I: 05 Il l IIIIIWW’Y(I l IW ]
6000 6250 6500 6750 7000 2100 2400 2700 3000 3300

AR A A



